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Gen'erdl Instructions to the Applicants :

i) eflemser L L UiLg Ly S75HQID, eflfieurs aﬁ]ml_u_laﬂasgm cuenaudgb amsr@
- This Questlon Paper is Descriptive Type in Degree Standard

1) aﬁ]mrrggrrmrrmgj g,Lé]laQ Lomgju) shde ayaumsdo 2 derg. G,r(Bg@jLo 5{_5(3;5&0 @@ulﬁlm N
o a;,rmélco aug.eiled gguul_(acrrm @g‘)]uqas@m WPlgeUTeg).
The Question paper is printed in Tamil and English versions. In all matters and in
- cases of doubt Enghsh Version 1 is final. : :

’ m) - @sCsiema Gurrgggmanu gsqrpasrres a@g]cug,m@a;n LD;DQJLD tﬁlmgguﬁlcnammeo a@@ugm&n&@mn
' gaﬂu_lrras HCIQLTSET @gIEsLILLedld@me.

" There is no reservation of marks for neatness of execution and correctness of spelhng ‘
in respect of th1s paper. »
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'CHEMISTRY B
L‘ﬂrﬂm Y
 PART — A

@GPy : - ) . geuGeumm aﬁ]mmﬁ]‘gb@lb 50 QempaErsE WaToe aﬁlmLuaﬂ&gsme. '
" Note ‘ " Answer not, exceeding 50 words each. | |

i)  @aQarm aﬁ]afnsﬁigb@m epeny m@ﬂ@uéﬁr&dx.
| Each questlon carries three marks

i) Qar@asnLL@eter  PULSDSHS! aﬁlmn.sa;crﬂco GT&')QJGUJ@ILD (g)uugj
aﬁlmn&s@&@ L (Hbd sﬁlmt_u.lcrﬂasa;mm o N S

o Answer any thlrty questlons only out of thirty five Questions.
(30 x 3=90)

@rsEGLredia ﬁqn;’pl;l@uq ;ﬂa;@Lb GQW@@ SerL&@1b e QLTI ST Wimenau?

What are the product_s_ of hydrolysis of lactose?.

; ;Elgnl.o Ggrrmgsﬁ]uurrma;m GTEmMITE) Grarrarr? @I a@;@mng@ BOHS.

, What isa chromogen" Give one example

. Gouniss Gram_lg] u_lrrgl? SIS 5|Jrrmu@§>g,rrco @gugu_lrr&;es aﬁlmt_uugj crgj?

i What is starch? Give the product when 1t undergoes ultimate hydrolyms

: ~ACFCY :
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4. gwilaerey wHmb swHD Pereysefen G@guﬁ;mgaﬁlmé;@a;.

Differentiate between homolytic and heterolytic fission.

5. Senamden QerL_fleneL Qun@dmse'rr WITg)? STeTmISET g,@as.’

What are reaction intermediates? Give examples.

6. slLenwlieu eueywy. STanseT Qsr(.

Define configuration. Give examples.

1. Blww spnd - cuemywmy.

* Define specific rotation.

8. ‘as(njésasmr’rbasumﬂ ST Greme? R( 2 FNyeRILD Qg;rr@.

What is nucleophile? Give an example.

9. EPLyRET —LITEDLITED 2 JRISET GrenpTed eramen?

- What is NP Fertilizers?

10.  grewLeb elenarey erenMITE) GTEMEH?

| What is inductive effect?

11.  Quénfefien o Laflese whmib 2 1 aflese) Gandsaiiy SieLorioU T(PS. H

Give the resonance and resonance hybrid structure of benzene.

‘12, 267 Qe gaflomisET GTENDTED ereie? ; T
What are inner transition elements?

ACFCY 4



13.

- 14,

15. .

16.

17.

18.

What is catalytic promoter?

QUL L ey 2_hiseT GTETDTE Gremen? 4

What is .potesh, fertilizers?

%éqmm@é;m GTETMITEL GTEIEN?

- What are actinides?

~

gariey eNeneTey GTETDITE Greman?

- What aretr_elaxation effect?

AevanGeous wmpHluden o LisH erempmed eranan?

adi cfenanGeus rHIH a.lmlytu_lg., "

Define negative -cataiys’t. ’

GTG)TI_GD’H'LS] GUGDUUJQ]

" i Deﬁne entropy

19.

20.

,Calculate the RMS veloc1ty of 002 molecule at 1000°C

un‘uﬂwm) aﬁl@mu aaxgx

| State Boyle s law

: 1000°C Gmuu@mmuﬁlw 002 @mmgeﬁlar RMS Qm&@ma;g,mg, 56wra;eﬂ®

ACFCY

,‘_[Q@DQ&/Tufm over



27.

28

21.
22.

23.

24.

25.

26.

CO, epasander é{g‘,lfrma;emmgr; (S, ’ j ) .

Draw the riormal modes of vibrations of CO, molecule.

Henp ﬂmwnmmmn@ﬂuﬁlm WPSA LT LIMSHIS®ETS @[ﬁluﬁl@as

What are the essential parts of the mass spectrometer"

HCl @oa)a;ah,rﬁlm a;@rma‘,lu_l ‘nﬂmg)mu_u a;sma;a‘;l@a; (@4@4 Hepser H= 1673x10 kg

- 35C1=58. 06x10'27kg)

Calculate the reduced mass of HCl molecule (The atomic ‘masses are: .
© 'H=1.673x10""kg; **Cl=58.06x10"%"kg). ‘

umelled asiwln Gifleva Hlevavenio HmID s MLBSLb wreneu? Lmelléb 2_arer urrc'ou:uarré;eﬁl Tg?

Give the dispersed phase and d1spers10n medlum in the rmlk Wlnch emuls1f1er is
present in the mllk? :

&g &) pene SeRTESL 2 ga|d eurru'_lum'_as); T(PGIS.

Write the formula to calculate the magnetic moment.

SIS GTERT — QU

Define : Gold number.

THS gaﬂmm @1@5 TQELTET BT L (D Logf,luq Qa;rrmﬂ_a)al? asmjmrmasmm &(1Hs.

Which element has highest electron afﬁmty‘? G1ve reasons.

Grcbéiﬁ.urrsbr @mg)ajc'rren G&ﬁtoré:asc_h wIreneu? e qt(&gg]és_e;rrl_'_@ S(HS.

What are electron. deficient compounds? Give an example.

ACFCY = s
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- 30.

31.

32.

33.

34.

35.

" Gemeumid Coudefenamlia »aS]'as;leQurr@éf_r GT(PSIE?

NH,
. - > :C5H110N6 X ?
~ Ac,0-

- What is the product of the following reaction? B !

(peaTalETeT F5LI1ITaTLIL QST APaHEHDISET W6 ?

What are polar covalent mol_eculbes?

u@uurr‘u’_umicmg,]uﬂ]u@%j smL&s Qg HSE CTEDITE) GTETT?

- What do you meant by Diétillation in analytical chemistry?

ﬁgmpg_bgpg SO S(HLD @mnugé&ésr Blpiism_iguller amﬁoﬁl@u CUEIS.

Write the structure of phenolphthalein indicator which do'esbn(')t give colour.

LL& &g — mmxju.u .
o

Define standard solution.

Lmq@&rrémd) ULATOL6 emenTal Gsﬁmgﬁdt LD mmr\]-;bgj,, CaemThis@aT GINIICES

, Draw the structure of Tﬁgonal bipYramidal complex and mention the ‘a'ngles‘. :

4

el GTEITDTED Tea? @mm@ a-,g,rrr;amréj&cﬁ g‘,@as,

-What is Ligand? Give two examples.

- _NH:
. CsHLONO o
—stu T 59
A0

. A ACFCY
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PART ‘B |

f: @&l i) E @m@mn@ sﬂmrreﬁlgp@m 100 Qarrma;@a;@ uS}asrrLDsn sﬁlmL_uJerﬂa;asmm

| No'te : - Answer not exceeding 100 words each.

36.
37.
38,
39.

' 40.

‘What are carbocatmns" Explam their stab111ty

i) gaiQane demeliieb o @ wHLQUESET.
| Each question carries eight marks

- 1) Qasﬂ@asasuuL_@mGﬂ uQer (@ Aermésafie ﬂmm@"—'@'m “Q“’“’ﬁg- >

o aﬂmﬂ&as@a;g Lm_@m G)S]GU)L.UJGTﬂéB&S&]LD

Answer any fifteen quest1ons only out of elghteen Que_stlons _
A (15 x 8 = 120)

Qud{ﬁaﬂeb peLQuaib seCUTCamDDEH e aﬂ@m@@mu aﬁim&.@&

'Explain the rdechaniSm of sulphonation of benzene.

Qurguaﬁasﬂm T&ELTTET Seul u(éls&.@ aﬁlmesrascrﬂa) rr@u@mmg, @r;rsm@ s_g,rn;am'rmam
Qa;rram‘@ eflenéEs. :

Explam w1th two examples the electropthc substitution reactmns of toluene.

asmiuer Gpislen a;u.rasﬂa;efr Gréyrg)rm) Greinan? aaa»a.w;erﬂm ﬁmwqu §ma»wanu.| oS]GrraS@

A\

&Glyrrcmlq.es Gsrrmmascrﬂm evars Hpefer Ga;rm.urr@ WT)1;)) @;_ﬂuq TPHIS.

AN

Give an account of the theory of react1v1ty of aromatlc compounds

- Sy2 ef@ander oflaven ) yeonow eferss. |

* Describe the mechanism of Sy2 reaction.

- AcFCY 8



41.
2. |
3.
44.
s

. 46.

an.
48.

49,

2 LiSeflsdr oo gram o elomarea efeufl. |

Describe the inductive effect on halogeno acids. - = :

é{maﬁneﬁ Gsﬁmré;a;mm'ﬁuujrﬂ(am TUPAC popow aleufl. 4 . R : .  / ‘

‘Explain the TUPAC nomenclature of complexes.

;Sla;lj <@ e BEgILUEMS QreRT(H s_gnumggu_m ens@.

'Explam the concept of effective Atomlc number W1th two examples.

SIS mrr’;’rpgasim(gsﬁ g,asﬂmrﬁm;e‘rﬂét TEOEHL_ITTET DILOLIGILL GT(LSIE.

 Write the electronic configuration of all the lanthanides elements.

, éILD(BLDITQﬂUJLD mpLGUL 2.f1b g,u.umﬂa;@m (penpanLs aﬁlanﬂ

Explain the preparatlon of Ammomum mtrate fertlhzer .
‘ ’

&L TeN saiifper Qsmates Lig @marrm@asrrm smﬂlmswruq Q,pa)a;sagla;oﬂm élu.mﬂu -
uamqasaﬁm sgeigsms Aers@. :

Explain the percentage of i 1omc character in a polar covalent bond usmg the concept of
electro negat1v1ty ~ .

Gurrr;(%&rra) ereueumm) gu.urnﬂa;asuu@é]mgj LD!_I)QILD DS cwml.oumu aﬁ]smﬂ

How is borazole prepared" Explaln 1ts structure.

_ 'umlnq @@oﬁlm&uﬂm Aeneraysener efeTdEs.

A Explain the effects of surface‘tension.

. Lﬁlm@mamss SauTss) Grasrgpna) GTGOTGH? &gaﬂa‘r uu.ta‘rurr@assom aflend.

. What is electrophoresm‘? Explam its apphcatlons

s . acFcy
B [Briys/Turn over



50.

51

52.

53.

54.

LU SSTe AearCous LD!T[D"ID§§ D& STes umln._f sauiEdls Qamaramsmw edleré,.

Explain the adsbrption theory of Heterogeneous catalysis.

gf,h_v__ @@L Feen L&'ch@s&)me;.mu_n Aeré s
Explain the standard hydrogen electrode.

icnrdm-'_GumL;lQm:u_l e — SO MBS cumed.

_ Derive entropy frbm‘Carnot’s_CYcle._ ’

/

LS@Lb_ wHmd e Qswed pevpaever Gé.u@u@g_’r,gja;.

DistingﬁiSh reversible and irreversible pro‘cesses;
PART —C

C @Ply: 1) | ,@@Q@ﬁ@ eflameinib 200 QerhHaEnEE WM aﬁlam_u_laﬂéséme‘.,

Note:  Answer not exceeding 200 words each. ,
ii) @aﬁ@éurr@ Aamelp@Eid LHeansg wHALTSET.
Each question carries fifteen marks.

111) G]a;rr@aasuun.@mm Rl aﬁ]amr&a;aﬂa) amw@u@lm %g aﬁlmrra;&@a@j,

L (Hibd aﬁ]ml_umﬂasa;sqm

Answer any six questions only out of nine questions.
. (6 x 15 =90)

Quigieafles @Bl Crr gHpid ‘rﬂa;,@fb Qurps <ECsm @pl CrmGLngieiar afenert)
Qurmans S &8pgl. e mpn..@urr@umeﬂaﬂm apLCrr ghpd Hlaupd G]urr@gj Qulm

‘@LepLGyr Qum&m aﬂmmu@un@mnas Her_&8mg). gen?

Toluene on mtratlon glves ortho - mtrotoluene but mtrobenzene on mtratlon gives
meta-di nitro- benzene Explam with mechamsm :

ACFCY - | .10



- 55.

- 56.

- 57.

58..

ggrrsvr—@u..a)sorr a_@a;@msva»m G]urr@g,g,mrrm mmuul_rme};@l_m emﬁ\ aﬂma;@a;

(

'v Wlth a sultable dlagram state and explam J ahn-Teller d1stort1on

25°C e, 1 M Qurr@;(’o’mrnﬁas &L&mg,ﬁw 2 direr mn@gmm@a;srﬂm gf,h_L_ Q%aseﬂg(zmmgp
Siwhppens Lbl Gr@@as »

Write the standard ox1dat10n potentials of lanthamdes in 1 M per chlonc ac1d at 25°C

&g;e;sesairrt,rmgbgﬂdn swmfigse, LGiTL|&eiT LoHmILD SiawlimL arsEs. |

(@) BH,

.(%) Gumy&er

, (@) é]aSIasGa;rrma;m

Explam the preparatlon propertles and structures of the folloW1ng

@ 'B,H,

(b) Borazine

(c) . Silicones.

\

. égp&nmummgpga;@ am memg, AmLins Q;pdmsdﬂa’rr u@s&;urf@a;mcn aﬂmé;@as. |
" ) a;éﬂm Log')gub.euﬂm @aioiser o
_ ’(%) @@ua;a; Logpglux Lorrguasa; mngp@u_lm '
| Explam the apphcatlons of dipole moment to the followmg

() Inorgamc and orgamc compounds

(b) Cis-transi isomerism.

L4

w - ACFCY
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59.‘~égbrr@asﬂu_lcm FeTmanL eu@aﬁ] @g,j Greueurrgj é;]mrrm(;]e;rrm c_sgbg)mma) &mra;eﬁ]@mgﬂa)
’ uu_lasru@eﬂ;og cremLeng efleurd).

‘Derive the Arrhemus equatlon and dlscuss how it is useful to calculate the energy of
~act1vat10n

60. AererGous wrpBHlulen Qararenssganar Aeréss.

Explain the theory of catalyst.

6L demmluis-AQernuipTar siodrU @ aimed.

Derive Claﬁssius-Clapeyron equation.

62. (cgq) NMR ﬁl;nmrrmsuuﬁ\m S55IUEMS QS]QJW@

(c%) Gaugl p&nmm SjareflL, QL_t_rJrr ngﬁmﬂ@wm c,rm @@ g_ﬁu_.u Qun@mrras '
uumu@g,guu@élmg,j

_ (a) D1scuss the principles of NMR spectroscopy | L : | (10) )

| (b) Why do we choose tetramethylsﬂane as a standard for recordmg chemlcal shift?
S . ' S ®)
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